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19.5 Averages and Range from Tables

Page 242 Exercise 1

11

2 a)3 b) 5
3 20sw<30kg

4 a) 41% - 60% b) 99%

Page 244 Exercise 2
1 a) 11th position

b) 2

22°C

3

21— 25 minutes

a) £20 <a < £24

b) No — you can only be sure of the group in which the
median lies, and not the actual value.
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Page 241 Exercise 2
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Any two from: E.g. In general, the dogs were heavier
than the cats. / The weights of the cats were more
consistent. / The large range in the weights of the dogs
could mean that there is an outlier in the data.

Any two from: E.g. In general, the number of
passengers was greater on route 2 than on route 1.

/ There was a larger variation in the number of
passengers on route 2. / The number of passengers on
route 1 was more consistent.

The large range in passengers on route 2 means that
there may be an outlier in the data.

E.g. In general, pupils in class X scored higher than
pupils in class Y.

The scores for both class X and class Y fall within a
small range and so the scores for each class are quite
consistent.

E.g. In general, film 1 was rated higher than film 2.
The scores for film 1 were much more consistent than
for film 2.

The large range of scores for film 2 implies that there
could be an outlier in the data set (smaller than the
rest of the data making the mean much lower than the
median).
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19.4 Averages and Range

Page 239 Exercise 1

1 a)i) 9 i) 7
b)i) 22
o) i) 31
d)i) 8.2
2 a)i) 3
b)i) 10 ii) 11
o) i) 21 ii) 22.5
3 a)65 b) 8
4 a)238 b) 12.4 c) 213 d) 22.15

5 46.25 years
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Page 246 Exercise 4

1 a) and b)
Cupcakes Sold | 1-5 [ 6-10 [11-15[16-20
Frequency 9 ‘ 11 24 16
Midpoint 3 } 8 13 18

Freq. x midpoint | 27 88 312 | 288

c) 11.92 cupcakes
2 a) and b)

D (L) Frequency | Midpoint T;?::g;{
1-3 3 2 6
4-6 1 5 55
7-9 5 8 40
10-12 7 " 77
13-15 2 14 28
mean = 7.4 hours
3 a) 103 performances b) 137 people

4 a) £64.72

b) No — you can only make an estimate of the mean
as you don’t know the exact amounts spent, only the
group in which each value lies.
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Page 245 Exercise 3

1 a)andb)
Glasses Frequency g Ieaqu::c;
1 3 3
2 4 14
3 3 9
4 1 4
Total 14 30

c) 2.1 glasses
2 1.64 blackbirds




